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(1x15=15)

1] Choose the correct option

1) IfA= [g 3] and f(x) =1+ x+ x? + -+ x2% then f(A) =?

9 (0 iPlo 190 ):0Q

2) The matrix A = [; _43] satisfies the equation A2 — 64 + 17 = 0. Hence A™1=7?
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4 2 _1]&B= —3 0/, then the value of AB ?
3 -7 1 s

) [236 ;Z] 5 b) [—36 IZ] 59 [236 —_174] 5 0 [236 174]

4) IfA=(1 2 3 4) &B= find AB =?

a) [30]; b) [20]; ) 30 ;

5 Find the values of x, where

a) 2,14 ; b)-2,-14 ;

6) Evaluate |2 ‘;l =?

a) 10 ; b)) -10 H




1 4
7) Thevalueof|-4 1
3 -2

a) 37 ; by =37 ; ¢ 30 ; d -30

8) The value of a+l¥’ C+l.d =7?
—c+id a-—ib
a) d’+c?+b*+a®> ; b) d*+c?2+b*-a* ; ¢ d?+c?-b%*+a?

d) d?—c?+ b? + a?

cosa sinf

i =7?;giventh l les.
sina cospf giventhata & f are complementary angles

9) The value of

; d) -1

1| = 28, Then the integral value of x is?
4

;b)) 2 5¢ 3 ;3 d 4

3
1 ] is singular, the value of x willbe -

-3
2 ; d 1

4 -7

3 2 ], then the Minor of a,(i.e. My;)is=?

12)If A = |

a)4; b)-7 ; ¢ -3 ; d) 2

1 2 3
1)IfA=|-3 2 —1], then the Minor of a,(i.e. M4;)is=?

2 -4 3

a)4; b)-7 ; ¢ 18 ; d) 2




ea=[% 7]

9 ] then the Cofactor of a,(i.e. C13)is=?
a) 4; b7 ; ¢ 3 ; d -2

3
15)IfA = (-3 —1], then the Cofactor of a,3(i.e. Cy3)is=7?
3
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